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Questions

All physical layout of network is know as.

In peer to Peer network model.

FDDlis a

A network that places all nodes on a single cable is called.

is an example of defector standard.

Which layer of OSI model does data compression.

Which of the following is not a category of network.

A network the transmits data over city wise distance faster than LAN is.

Software to pursue internet is.

People of LAN can share EXCEPT.

What types of network is internet.

Each computer on a network is called.

Which is not network type.

MAN Stand for

Which type of Network is the internet.

Answers Choice

A. Topology
B. Session
C. Style

D. Link

. No hybrid computer
. No Clint computer
. No server computer
No tree Topology

. Star network
Mesh network
Ring network
Bus network

Star
Mesh
Ring
BUS

SNA
ANSI
ISO

IEEE

Network layer
. Presentation
Sesion

. Physical layer

LAN
MAN
WAN
NAN

LAN
NAN
MAN
WAN

Gateway

EFT

Browser

None of these

Monitor
Printer
Modem
CD-ROM

LAN

WAN
PAN
MAN

Node

Bus
Termination
Point

. Metro politan arranged networks
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. Manufactured arrangement of
networks

C. Metro politan Area

D. Market Area

A LAN
B. MAN
C. WAN



D. Bothbandc



